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11 To form the endate we need to have an d-proton .

It's CH

bond must allow for Overlap with theTo and the resulting
C=C must be stable
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F does not have an -proton

H

⑨# does haveaprotom , but they have no

H overlap with* o

at strained ring that does not comply with

Brecht's ruhe

2) Let's upply the same logic here

Ha

↳ Ha has good overlay

* HB not

= Ha more acdic



3) Here two things are Important : ① Dipole QH-Boncho

onlbu withthe formateine
dipol .
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a be change is neutilee

b) I amine better donor than all

· ⑦ stabilized by methyl group
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thermodynamic kinetic
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